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Exercise 2

In Exercises 1–2, find a period of the given function and sketch its graph.

(a) sin 7πx,

(b) sinnπx (n an integer),

(c) cosmx (m an integer),

(d) sinx+ cosx,

(e) sin2 2x.

Solution

Part (a)

The period of sin 7πx is

T =
2π

7π
=

2

7
.

Below is a graph of sin 7πx versus x. Notice that the graph repeats itself every 2/7 units.
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Part (b)

The period of sinnπx is

T =
2π

nπ
=

2

n
.

Below is a graph of sinnπx versus nx. Notice that the graph repeats itself every 2 units.

Part (c)

The period of cosmx is

T =
2π

m
.

Below is a graph of cosmx versus mx. Notice that the graph repeats itself every 2π units.
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Part (d)

The period of sinx is 2π
1 = 2π, and the period of cosx is 2π

1 = 2π. The least common multiple of
2π and 2π is 2π, so this is the period of sinx+ cosx.

Part (e)

The period of sin2 2x = 1
2(1− cos 4x) is 2π

4 = π
2 , so the graph repeats itself every π/2 units.

www.stemjock.com


